EB-2021-0307:1: Kelly Bruce

OTHER EB#S

COST CLAIM NUMBER SUBMISSION DEADLINE DATE 1394 June 21, 2023

CLAIM STATUS Approved by Finance

EB# EB-2021-0307: Initiatives: Regulatory Direction

and Oversight: Ontario Energy Board

PHASE #*

INTERVENOR

Bruce, Kelly; +1 (437) 328-9397

kbruce@enerlife.com

INTERVENOR COMPANY*

Building Owners and Managers

Association, Toronto: Cooperative

INTERVENOR TYPE

Full Registrant

HST RATE ONTARIO

13.00

EXCHANGE RATE

COUNTRY

HST NUMBER

R119420859

LATE SUBMISSION ALLOWED

EXTENSION DEADLINE DATE

No

| PART | ICIPANTS | | | Participant | |
|------|-----------------------------------------|-------------------------------------------------------------------------|------------|----------------|-----------------|
| New | Non-Filing Participant First, Last Name | Filing Participant | Total (\$) | Total Hours | Claim Status |
| No | , | Henderson, Gillian; +1(416) 915-1530 gillian.henderson@enerlife.c | 30,950.72 | 83.00 | Submitted |

ATTACHMENTS

| | Document | Import Message |
|------------|----------|----------------|
| Attachment | Туре | |
| | | |

BOMA EB-2021-0307 Cost Claim 062020230903.pdf

TOTAL LEGAL/CONSULTANT/OTHER FEES

27,390.00

TOTAL DISBURSEMENTS

0.00

TOTAL HST 3,560.72

TOTAL CLAIM

30,950.72

TOTAL AMOUNT AWARDED

TOTAL HOURS CLAIMED

83.00

TOTAL HOURS DISALLOWED

REASON FOR DISALLOWANCE **REASON FOR DISALLOWANCE - 2** **REASON FOR DISALLOWANCE - 3**

MAKE CHEQUE PAYABLE TO Enerlife Consulting Inc.

SEND PAYMENT TO ADDRESS

90 Ealinton Ave E Suite 412 Toronto, Ontario M4P 2Y3

ATTENTION

SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY Kelly Bruce DATE SUBMITTED June 20, 2023 **CASE**

EB-2021-0307: Initiatives:

Regulatory Direction and

Oversight: Ontario Energy Board

COST CLAIM

PARTICIPANT

EB-2021-0307 : 1 : Kelly

Bruce

INTERVENOR NAME

Bruce, Kelly; +1 (437)

328-9397

kbruce@enerlife.com

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

Henderson, Gillian; +1(416)

915-1530

gillian.henderson@enerlife.com

NEW

Nο

NON-FILING

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE*

Consultant

YEAR CALLED TO BAR*

TEAR CALLED TO BAR

COMPLETED YEARS
PRACTICING/YEARS OF
RELEVANT EXPERIENCE*

25

2

HST RATE CHARGED*

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Provided within Previous

24 Months

LAST CV DATE

February 21, 2023

OVERRIDE HOURLY RATE

HOURLY RATE

330

No

HST NUMBER R119420859

HEARINGS

No

CONSULTATIONS

Yes

DISBURSEMENTS

No

CONSULTATION

Consultation Hours 83.00 Consultations Subtotal (\$) 27,390.00 Consultations Total Tax (\$) 3,560.72 Consultations Total (\$) 30,950.72

| | <u>Description</u> | Maximum Hours | <u>Hours</u> | Hourly Rate | Sub Total | HST Rate | <u>HST</u> | <u>Total</u> |
|----|---------------------------------------------------------------------------------|------------------|--------------|----------------|-----------|----------|------------|--------------|
| 1 | Submissions on questions identified in the OEB's letter dated November 30, 2021 | 8.00 | | 330 | | 13.00 | | |
| 2 | RPQR WG Meeting #1 - 3-Aug-2022 | 9.00 | 9.00 | 330 | 2,970.00 | 13.00 | 386.10 | 3,356.10 |
| 3 | RPQR WG Meeting #2 - 8-Sep-2022 | 9.00 | 7.50 | 330 | 2,475.00 | 13.00 | 321.75 | 2,796.75 |
| 4 | Loss of Supply Subgroup Meeting #1 - 12-Sep-2022 | 3.75 | | 330 | | 13.00 | | |
| 5 | Loss of Supply Subgroup Meeting #2 - 26-Sep-2022 | 3.75 | | 330 | | 13.00 | | |
| 6 | Loss of Supply Subgroup Meeting #3 - 11-Oct-2022 | 3.75 | | 330 | | 13.00 | | |
| 7 | RPQR WG Meeting #3 - 12-Oct-2022 | 9.00 | 7.75 | 330 | 2,557.50 | 13.00 | 332.48 | 2,889.98 |
| 8 | Loss of Supply Subgroup Meeting #4 - 24-Oct-2022 | 3.75 | | 330 | | 13.00 | | |
| 9 | RPQR WG Meeting #4 - 28-Oct-2022 | 9.00 | 7.00 | 330 | 2,310.00 | 13.00 | 300.30 | 2,610.30 |
| 10 | Loss of Supply Subgroup Meeting #5 - 7-Nov-2022 | 3.75 | | 330 | | 13.00 | | |
| 11 | RPQR WG Meeting #5 - 14-Nov-2022 | 9.00 | 7.00 | 330 | 2,310.00 | 13.00 | 300.30 | 2,610.30 |
| 12 | Loss of Supply Subgroup Meeting #6 - 25-Nov-2022 | 3.75 | | 330 | | 13.00 | | |
| 13 | RPQR WG Meeting #6 - 9-Dec-2022 | 9.00 | 7.25 | 330 | 2,392.50 | 13.00 | 311.03 | 2,703.53 |
| 14 | Loss of Supply Subgroup Meeting #7 - 11-Jan-2023 | 3.75 | | 330 | | 13.00 | | |
| 15 | RPQR WG Meeting #7 - 12-Jan-2023 | 9.00 | 9.00 | 330 | 2,970.00 | 13.00 | 386.10 | 3,356.10 |
| 16 | RPQR WG Meeting #8 - 7-Feb-2023 | 9.00 | 8.00 | 330 | 2,640.00 | 13.00 | 343.20 | 2,983.20 |
| 17 | Loss of Supply Subgroup Meeting #8 - 13-Feb-2023 | 3.75 | | 330 | | 13.00 | | |
| 18 | RPQR WG Meeting #9 - 7-Mar-2023 | 9.00 | 7.75 | 330 | 2,557.50 | 13.00 | 332.48 | 2,889.98 |
| 19 | RPQR WG Meeting #10 - 11-Apr-2023 | 9.00 | 9.00 | 330 | 2,970.00 | 13.00 | 386.10 | 3,356.10 |
| 20 | RPQR WG Meeting #11 - 15-May-2023 | 3.75 | 3.75 | 330 | 1,237.50 | 13.00 | 160.88 | 1,398.38 |
| | Total Legal/Consultant Fees | | 83.00 | | 27,390.00 | | ,560.72 | 30,950.72 |

Attachments

Attachment

EB-2021-0307 Cost Claim Submission June 20_2023.pdf

Document Type

Time Docket and Invoice

Import Message

Hearings, Consultations, Disbursements Attachments

Attachment

EB-2021-0307 Cost Claim Submission June 20_2023.pdf

Document Type

Time Docket and Invoice

Claim Type
Consultations

Import Message



June 20, 2023

90EglintonAve.East Suite412 Toronto,ONM4P2Y3 Tel:416.915.1530 Fax:416.915.1534 www.enerlife.com

VIA RESS AND EMAIL

Ontario Energy Board 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4

Attention: Nancy Marconi, Registrar

Dear Ms. Marconi:

Re: EB-2021-0307 Reliability and Power Quality Review Cost Claim of BOMA

Attached is the cost claim of BOMA for its participation in the EB-2021-0307 Reliability and Power Quality Review.

Please let us know if you have any questions.

Yours sincerely (for BOMA),

Ian A Jarvis President

Email: <u>ijarvis@enerlife.com</u>



90 Eglinton Ave. East, Suite 412 Toronto, ON M4P 2Y3 Canada Tel: 416.915.1530 Fax: 416.915.1534

Ontario Energy Board 2300 Yonge Street Suite 2701

To:

Toronto, Ontario M4P 1E4

Re: EB-2021-0307 Reliability and Power Quality Review

Date: Monday June 19, 2023

| | | | | Invoice: | 3792 |
|-----------------------------|-------|---------------------|-----------------------------------|----------|------------|
| | | Analyst/Consultant/ | 'C | | |
| Date | Hours | ase Mgmt | Description | Rate | Total |
| Vednesday, August 3, 2022 | 9.00 | Gillian Henderson | RPHR WG #1 Prep & attend meeting | \$330 | \$2,970.00 |
| hursday, September 8, 2022 | 7.50 | Gillian Henderson | RPHR WG #2 Prep & attend meeting | \$330 | \$2,475.00 |
| /ednesday, October 12, 2022 | 7.75 | Gillian Henderson | RPHR WG #3 Prep & attend meeting | \$330 | \$2,557.50 |
| riday, October 28, 2022 | 7.00 | Gillian Henderson | RPHR WG #4 Prep & attend meeting | \$330 | \$2,310.00 |
| londay, November 14, 2022 | 7.00 | Gillian Henderson | RPHR WG #5 Prep & attend meeting | \$330 | \$2,310.00 |
| riday, December 9, 2022 | 7.25 | Gillian Henderson | RPHR WG #6 Prep & attend meeting | \$330 | \$2,392.50 |
| hursday, January 12, 2023 | 9.00 | Gillian Henderson | RPHR WG #7 Prep & attend meeting | \$330 | \$2,970.00 |
| uesday, February 7, 2023 | 8.00 | Gillian Henderson | RPHR WG #8 Prep & attend meeting | \$330 | \$2,640.00 |
| uesday, March 7, 2023 | 7.75 | Gillian Henderson | RPHR WG #9 Prep & attend meeting | \$330 | \$2,557.50 |
| uesday, April 11, 2023 | 9.00 | Gillian Henderson | RPHR WG #10 Prep & attend meeting | \$330 | \$2,970.00 |
| Monday, May 15, 2023 | 3.75 | Gillian Henderson | RPHR WG #11 Prep & attend meeting | \$330 | \$1,237.50 |

HST \$3,560.70

Total Amount \$30,950.70

Payment due upon receipt of invoice.
Please make cheque payable to Enerlife Consulting Inc.

Ian A. Jarvis President